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1 - Determine the acceleration with which block B moves as shown. The masses of blocks A and B are 2Kg and
3Kg respectively and the magnitude of gravitational acceleration is given as 9.81m/s%. Neglect the masses of the
pulleys and cord.
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2 ~ The 30-Mg freight car A and 20-Mg freight car B travel towards each other with the velocities

shown. If the coefficient of restitution between the bumpers is e =0.6. Determine the velocity of car
B just after the collision.

Im/s 1.5m/s

3 ~ The car shown has a mass of 1.2Mg and a center of mass at G. Determine the car’s acceleration if

the “driving’ wheels in the back are always slipping, whereas the front wheels freely rotate. Neglect
the mass of the wheels. The coefficient of kinetic friction between the wheels and the road is

., =0.35 and the magnitude of gravitational acceleration is given as 9.81m/s”.




4-~The crankshaft AB of an engine turns with a clockwise angular acceleration of 10 rad/s. Determine
the acceleration of the piston at this instant AB is in the shown. At this instant @,; =10rad/s and
Wy =2.43rad/s.
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o wWap = 10 rad/sﬂ
QAR = 10 rad,/S‘
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